


NAME……………………………………………..ADM NO……………..CLASS……………
TERM 1 END-TERM EXAM 2013
MATHEMATICS FORM 2

ANSWER ALL QUESTIONS

1) Without using a calculator, evaluate							(4mks)

-2 (5 + 3) -9 ÷ 3 + 5
     -3x - + -2 x 4











2) Three light signals have been set to flash at intervals of 15 seconds and 24 seconds. If they all flash together at 8.13 am, when will they next flash together?				(4mks)










3) Use logarithms to evaluate								(4mks)

3    (35.6 x 0.06132)









4) A town P is 200km west of Q. Town R is at a distance of 80km on a bearing of 0490 from P. Town S is due East of R and due North of Q. Determine the bearing of S from P.	(4mks)














5) Simplify	3 27x3y9									(3mks)
		    x6y3













6) A vegetable render had 1348 cabbages. He sold 750 on the first day and 240 on the second day. He added 462 to the remaining stock on the third day.

a) How many cabbages did he have at the end.						(1mk)






b) If he sold all cabbages at an average cost of sh.12 how much money did he collect?	(2mks)





7) Solve for X in the equation below;							(4mks)

812X x 27X = 729
       9X












8) A car bought for sh.80,000 was sold through a dealer at a profit of 15%. The dealer charged the owner 8% commission on the selling price. How much did the owner get?		(3mks)












9) Write the following numbers in standard form;

a) 0.000000152







b) 4,698,700






10) A Kenyan bank buys and sells foreign currencies as shown below;

			Buying	 (Kshs.)	Selling (Ksh.)
1 Euro		84.15			84.26
100 Japanese yen	65.37			65.45


A Japanese travelling from France arrives in Kenya with 5,000 Euros. He converts all the 5000 Euros to Kenya shillings at the bank. While in Kenya he spends a total to Kenya shillings 289,850 and then converts the remaining Kenya shillings to Japanese yen at the bank. Calculate the amount in Japanese yen that he receives.				(4mks)
















11) Work out the following products, giving your answer as product of prime factor in power form.

a) 480 x 175										(2mks)








b) 189 x 189										(2mks)






12) A shopkeeper sells two types of pangs, type X and type Y. Twelve type X pangas and five type Y pangas cost sh.1,200, while nine type X pangas and fifteen type Y pangas cost sh.1,620. Mayuni bought eighteen type Y pangas, how much he pay for them.		(4mks)













13) In the figure below PS is parallel to QR. SR=10cm and SPT=RQT=900. T is point on PQ such that ST=6cm, angles PTS=300 and angle QTR=600.













a) Giving a reason, find the size of angle STR.						(2mks)





b) Calculate the lengths of:

i) TR


ii) QR


iii) QT

iv) PS




v) PT




c) Calculate the area of the figure PQRS							(3mks)












14) Use mathematical table to find the

i) the square of 86.46									(1mk)





ii) Reciprocal of 24.56									(1mk)






b) Hence or otherwise calculate the value of						(2mks)

(86.46)2
  27.57





15) Three business partners, Kioko, Njau and Osialo, are to share sh.12,000 in the ratio 5:6:x respectively. If Kioko received sh.4,000 determine the value of x.			(3mks)











16) The figure below shows a rectangle PQRS in which the dimensions are given in centimeters. Find the value of X and hence calculate the area of the rectangle.			(3mks)

		S	          6x-9		R


         5x-11				   2x+1


		P	           4x - 1		Q













17) If a=8 and b=14 evaluate;									(3mks)

a)	3 3a3b2						     b)  3 a2+b2






						
18) The radius of a circle is7cm. Find th circumference of the circle. Hence find the length of an arc of the circle which subtends an angle of 450 at the centre.				(3mks) 












19) The number 5.81 contains an integral part and a recurring decimal. Convert the number into an improper fraction and hence into a mixed number.					(3mks)











20) a) Using a ruler and compasses only construct triangle ABC in which BC=8cm, angle ABC=300 and angle ACB=450								(3mks)


















b)Measure AB and AC									(2mks)



c) At A drop a perpendicular to meet BC at D.						(1mk)

d) Measure AD and hence calculate the area of triangle ABC.				(3mks)












21) The figure below shows a net of prism whose cross-section is an equilateral triangle.























a) Sketch the prism									(2mks)


b) State the number of planes of symmetry of the prism.					(1mk)
22) In a school, three sevenths of the pupils are boys, and the rest are girls. Three quarters of the boys and eleven twelfths of the girls passes their annual examination. If 52 pupils failed to pass find, the number of pupils in the school.						(4mks)












23) Without using tables evaluate 								(4mks)

0.18 x 4
3.24 x 4









24) Juma buys animals feeds in sacks of 90kg, 70kg, 50kg and 40kg. He sells these feeds in small quantities. What is the largest quantity of feed that can be measured out from these sacks without feed being left over?								(4mks)









25) Write down the following numbers in words						(2mks)

a) 10 001 001



b) 2 005 830 652
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